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The following table shows the details about money invested (principal) in a bank at a certain rate of interest for a given
period of time by six different male persons A-F, alongwith with the amount received (in ). Some values are missing in
the table (indicated as'_') that you are expected to calculate if required. Based on the data in the table, answer the

questions that follow.

Person-wise Details of Money Invested

Person

Rate of Interest

(%)

Time

(In years)

Principal

n3)

Amount Received

%)

6%

18000

6%

30000

29000

43000

m| o | m| =

8%

20000

F

60000

Note: Calculate simple Interest unless spacified.

Sub questions

Question Number : 1 Question Id : 22742723692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the rate of interest received by Aand C is in the ratio of 2:3, then the money invested by C will get doubled in

years.
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Options:

22742792301.1

22742792302. 2

22742792303. 3

22742792304. 4



Question Number : 2 Question Id : 22742723693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the difference between the interest received by E and B is < 4200 and E invested his money for double the time period for
which B invested his money, then the amount received by E is

1.330,000

2,326,600

3.329600

4.335400
Options:
22742792305. 1
22742792306. 2
22742792307.3

22742792308. 4

Question Number : 3 Question Id : 22742723694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the amount received by C is twice the money invested by him, then the amount he will receive after 2 years if he invests the
same sum of money in compound interest for 2 years compounded half yearly, is

Options:

227427923009. 1
22742792310. 2
22742792311.3
22742792312. 4



Question Number : 4 Question Id : 22742723695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is 20% of the sum invested by him then how much more money as interest he would have eamed if
he had invested the money in compound interest?

1.3700

2.3600

3.3300

4.3400

Options :
22742792313. 1
22742792314. 2
22742792315.3

22742792316. 4

Question Number : 5 Question Id : 22742723696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is < 7,575 mare than the interest received by D and the rate of interest received by F is 2% more
than the rate of interest recieved by A, then the interest rate received by D is

Options :

22742792317. 1
22742792318. 2
22742792319. 3

22742792320. 4



Question Id : 22742723691 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742723692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792301. 1
22742792302. 2
22742792303. 3
22742792304. 4

Question Number : 2 Question Id : 22742723693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.330.000

2.328600

3.329.600

4 335400
Options :
22742792305. 1
22742792306. 2
22742792307. 3

22742792308. 4

Question Number : 3 Question Id : 22742723694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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432199245
Options :
227427923009. 1
22742792310. 2
22742792311.3

22742792312. 4

Question Number : 4 Question Id : 22742723695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.3700

2 3600

3.3300

4 3400

Options :
22742792313. 1
22742792314, 2
22742792315. 3

22742792316. 4

Question Number : 5 Question Id : 22742723696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792317. 1
22742792318. 2
22742792319. 3

22742792320. 4

Sub-Section Number : 2
Sub-Section Id : 227427929
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742723697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which element of cooperative learning talks about 'sink and swim' together?

1. Individual accountability
2. Promotive Interaction

3. Positive interdependence
4 Group processing

Options :

22742792321. 1
22742792322, 2
22742792323. 3

22742792324. 4

Question Number : 6 Question Id : 22742723697 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792321.1
22742792322. 2
22742792323. 3

22742792324. 4

Question Number : 7 Question Id : 22742723698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Canva is an online tool used to prepare creative content in the form of poster, infographics, presentations etc
Statement (II): Edpuzzle is an online tool used for creating interactive videos.

Inlight of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (1) and Statement (II) are incorrect
3. Statement (1) is correct but Statement (II) is incorrect
4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742792325. 1
22742792326. 2
22742792327.3

22742792328. 4



Question Number : 7 Question Id : 22742723698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792325. 1

22742792326, 2

22742792327.3

22742792328. 4

Question Number : 8 Question Id : 22742723699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the charactertistics of mental development of Adolescents?
(A). Increased ability to generalise the facts

(B). Development of memory and imagination

(C). Decreased ability to deal with abstraction

(D). Decreased ability to understand

(E). Increased ability to solve problems

Choose the correct answer from the options given below:

1.(C), (D) and (E) only
2. (A), (B) and (E) only.
3. (A), (C)and (D).

4 (C)and (D) only.
Options :
22742792329. 1
22742792330. 2
22742792331.3

22742792332. 4

Question Number : 8 Question Id : 22742723699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792329. 1
22742792330. 2
22742792331.3

22742792332. 4

Question Number : 9 Question Id : 22742723700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which approach the teacher presents a puzzling situation and students solve the problem by gathering data and testing their
conclusions?

1. Discovery leaming
2. Latent leaming

3. Situated leamning
4. Inquiry learning

Options:
22742792333. 1
22742792334. 2

22742792335. 3



22742792336. 4

Question Number : 9 Question Id : 22742723700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742792333. 1
22742792334 2
22742792335. 3

22742792336. 4

Question Number : 10 Question Id : 22742723701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement (1): The long-term memory for information tied to & particular time and place, especially memory of the events in a
person's life Is called as Implicit Memory

Statement (1): The knowledge that we are not concious of recalling but that influences our behaviour or thought without our
awareness is called as Episodic Memory.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) s true but Statement (11) is false.
4. Statement () s false but Statement (If) Is true.



Options :

22742792337. 1
22742792338. 2
22742792339. 3
22742792340. 4

Question Number : 10 Question Id : 22742723701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792337. 1

22742792338 2

22742792339. 3

22742792340. 4

Question Number : 11 Question Id : 22742723702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): In Cross- Sectional research, a researcher studies the same population over time.

Statement (I1): In retrospective study, a researcher relies on people's memories and recollections of the past.
In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement () and Statement (1) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (I1) is true.

Options :

22742792341. 1
22742792342. 2
22742792343.3
22742792344. 4

Question Number : 11 Question Id : 22742723702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792341. 1
22742792342. 2
22742792343.3

22742792344. 4



Question Number : 12 Question Id : 22742723703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In naturalistic observation, the practice of dichotomous recording whether a behaviour occurs or not, constitutes

1. Cluster sampling

2. Time-interval sampling

3. Onelzero sampling

4. Continuous real-time sampling
Options :
22742792345. 1
22742792346. 2
22742792347.3

22742792348. 4

Question Number : 12 Question Id : 22742723703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792345. 1
22742792346. 2
22742792347. 3

22742792348. 4

Question Number : 13 Question Id : 22742723704 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1) According to UGC Regulations 2018 on plagiarism, the authorities of a higher education institute cannot take suo
moto notice of an act of plagiarism.

Statement (II): Plagiarism means the practice of taking someone else’s work or idea and passing them as one's own.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are comect.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (Il) is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options:

22742792349. 1
22742792350. 2
22742792351.3

22742792352. 4

Question Number : 13 Question Id : 22742723704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742792349. 1
22742792350. 2
22742792351. 3

22742792352. 4

Question Number : 14 Question Id : 22742723705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a perfect normal distribution, the median would be equal to which of the following measures?
(A). Second quartile

(B). Mean

(C). 50! percentile

(D). Mode

(E). 5™ decile

Choose the correct answer from the options given below

1. (A), (B) and (C) only.

2. (A), (B)and (D) only.
A), (B), (C) and (D).

4 {AL (B), (C) (D) and (E).

Options :

22742792353. 1
22742792354. 2
22742792355. 3

22742792356. 4

Question Number : 14 Question Id : 22742723705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742792353, 1
22742792354, 2
22742792355, 3

22742792356. 4

Question Number : 15 Question Id : 22742723706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For which of the following p-value of a test statistic, a null hypothesis is likely to be rejected?
(A). 0.38 of 2%

(B). 38%

(C). 2%

(D). 0.46

Choose the correct answer from the options given below

1. (A) and (B) only
2. (A)and (C) only
3. (B) and (C) only
4. (B) and (D) only
Options :

22742792357 1
22742792358. 2
22742792359. 3

22742792360. 4

Question Number : 15 Question Id : 22742723706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742792357. 1
22742792358. 2
227427923509, 3

22742792360. 4

Question Number : 16 Question Id : 22742723707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, the Indian rhetoric, in its Hindu and Buddhist forms, has a/an

1. Materialist basis

2. Ethical basis

3. Euro-centric basis
4 Non-religious basis

Options:

22742792361. 1
22742792362. 2
22742792363.3

22742792364. 4



Question Number : 16 Question Id : 22742723707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742792361 1
22742792362. 2
22742792363. 3

22742792364. 4

Question Number : 17 Question Id : 22742723708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The paradoxical relationship between body and mind in a communication environment results in

1. Mindfulness

2 Self-importance
3 Obedience

4 Humour

Options :

22742792365. 1
22742792366. 2
22742792367. 3

22742792368. 4

Question Number : 17 Question Id : 22742723708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792365. 1
22742792366. 2
22742792367. 3
22742792368. 4

Question Number : 18 Question Id : 22742723709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential components of dialegic communication, according to Richard Johannesen?
(A). Afacade of pleasant greefing

(B). possessive warmth for others

(C). Empathic understading

(D). Spirit of mutual equality

(E). Positive regard for others

Choose the correct answer from the options given below:

—

A), (B) and (C) only.
B) (C) and (D) only.
C)(D)and (E)

A), (D) and (E) only.

1.
2
3

— —

)
)
)
4 (A)

o,

Options :
22742792369. 1

22742792370. 2



22742792371.3

22742792372. 4

Question Number : 18 Question Id : 22742723709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792369. 1
22742792370. 2
22742792371. 3

22742792372. 4

Question Number : 19 Question Id : 22742723710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The non-verbal communication is studied across which of the follwing disciplines?
{A). Physics

(B). Chemistry

(C). Linguistics

(D). Social psychology

(E). Anthropology

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B) (C)and (D) only.
3. (C), (D), and (E).

4 (A), (B) and (E) only.
Options :
22742792373. 1
22742792374. 2
22742792375. 3

22742792376. 4

Question Number : 19 Question Id : 22742723710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafeiad faugl 5 ¥ fo-16- 8§ TR-2isad YaR &I 8- [l |ar g2
A. HildH IR

B. TUTHARIRA

C. HIuTERHE

D. GHEIS® HIfaTH

E. AH4RIE
-d feu U famedl § § 999 IUgdd Itk &1 94 BIeld:

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HAAA B3ARE

Options :

227427923731
22742792374. 2
22742792375.3
22742792376. 4

Question Number : 20 Question Id : 22742723711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Every communication contains elements of both content and relationships.
Statement (I): Eye behaviour provides metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) i1s true but Statement (1) 15 false.
4 Statement (1) is false but Statement (I1) is true.

Options:



22742792377.1
22742792378. 2
22742792379. 3

22742792380. 4

Question Number : 20 Question Id : 22742723711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- Ude YaR H fqugasq 3R &t gHl & dd [dgH9H 8d |

Y |- HEf & TdeR 4 WHIR! Yad Had £

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. ®YF | MR I T &

2 Y| AR I GHf T 8

3. PYF | I §, dichd DY 11 3T B
4 DY | AUT T, Afh-T HYT | G &
Options :

22742792377. 1

22742792378. 2

22742792379. 3

22742792380. 4

Question Number : 21 Question Id : 22742723712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the correct sequence of five (5) missing letters which will complete the following letter series
daa bc cda a c c

1.a. bacb

2 a,.eb.a¢

3 #6.8.b¢

4 3,¢a,cb

Options:

22742792381. 1
22742792382. 2
22742792383. 3

22742792384. 4

Question Number : 21 Question Id : 22742723712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui (5) T H&R[ @1 Ug) 5 T & o FHafeifed aul-saet ot 81 <l daa_bc_cda_a ¢ c
1a,b,acb

2 aebac

3 @, 6.8, b,

1 A cach

Options :

22742792381. 1

22742792382. 2

22742792383. 3
22742792384. 4



Question Number : 22 Question Id : 22742723713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If in a scheme. the word 'FATHER' is coded as 104", how the word 'MOTHER' will be coded in the same scheme?

1.104

Options :

22742792385. 1
22742792386. 2
22742792387.3

22742792388. 4

Question Number : 22 Question Id : 22742723713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ft foel T & FATHER' 1104 o &0 H oot oo 71 3, ol 3t 2151 § MOTHER' Tec, 1 8 doefad fodl aIeAT?

1.104

2.83

3.87

4.102

Options :
22742792385. 1
22742792386. 2
22742792387. 3

22742792388. 4

Question Number : 23 Question Id : 22742723714 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Acircle has the diameter same as the length of the side of an equilatral triangle. What is the ratio of their respective areas?

11:
2.92:
3 11;
4 11:

-
[ "l
-
i

= S

[

< i

P

Options :

22742792389. 1
22742792390. 2
22742792391. 3

22742792392. 4

Question Number : 23 Question Id : 22742723714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U6 30 &1 O AR U6 GHYS Bo o} U6 Yo 1 a%T 99H 8| 376 SAbal &1 Ui ol 8112

1.11:7/3
2.22:7/3
a1 et

Slsl

4 11:

Options :

22742792389. 1
22742792390. 2
22742792391. 3

22742792392. 4

Question Number : 24 Question Id : 22742723715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
An article is sold at a gain of 10%. Had it been sold for Rs. 26 more, the profit would have been 15%. The cost price of the
article is

1.Rs 480/-

2 Rs.500/-

3 Rs 510

4 Rs.520/-
Options :
22742792393. 1
22742792394. 2
22742792395. 3

22742792396. 4

Question Number : 24 Question Id : 22742723715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl e @110 %1 R o1 701 391G 38 39 oy 90§ <206 e R el 7 et 15 % M G2 il | %) @1 Pl 90

1.3480

2.3500

3.3510

4.3520

Options :
22742792393. 1
22742792394. 2
22742792395. 3

22742792396. 4

Question Number : 25 Question Id : 22742723716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on <10,000/- for 3 years at 10% per annum is

1.310

2.300

3.200

4.430

Options :
22742792397. 1
22742792398. 2
22742792399. 3

22742792400. 4

Question Number : 25 Question Id : 22742723716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10 % It BI G Y 10000 W 3 9Y] & Tshdfe STd AR YR &S b HH R a1 82

1.3310

2.3300

3.3200

4.3 430
Options :
22742792397. 1
22742792398. 2
22742792399. 3

22742792400. 4

Question Number : 26 Question Id : 22742723717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
{A). Mammal

(B). Wildcat

(C). Feline

(D). Animal

(E). Vertebrate

Choose the correct answer from the options given below:

1. (B), (C), (A), (E), (D).
2. (D), (E), (A), (C), (B).
3. (D), (A), (E), (B), (C).
4. (C), (B), (E), (A), (D).
Options :

22742792401.1
22742792402. 2
22742792403. 3

22742792404. 4

Question Number : 26 Question Id : 22742723717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfeRad ee el &l 953y & ARG 71 H HaRyd SIfT :
A TTOEL

B. gfead

C. fasm

D. T

-id feu U foeedl & © 981 3R &1 99 DIt

1.B,C,AED
2D EACEB
3. DA E B, G
4 C,B,EAD

Options :

22742792401. 1
22742792402. 2
22742792403. 3
22742792404. 4

Question Number : 27 Question Id : 22742723718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"If you like ketchup and you also like icecream, then you would sure like ketchup icecream.” Which fallacy is committed in this
argument?

1. Ad Hominem

2. Hasty Generalisation

3. Slippery Slope

4 Fallacy of composition
Options:
22742792405. 1
22742792406. 2

22742792407. 3



22742792408. 4

Question Number : 27 Question Id : 22742723718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"G, 310 9 TG % 3 AR S0 SHZHHTH Ht GG e 2, o e 0 § i Mgt e il 9 G H o
T 37

1, o 9R19 5 e

2. HaNE FHRIEU
3. g B

4 Welaey
Options :
22742792405. 1
22742792406. 2
22742792407. 3

22742792408. 4

Question Number : 28 Question Id : 22742723719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which formal fallacy is committed in the following argument: "No politicians are idiots. Some voters are not idiots. Therefore,
some voters are not politicians."?

1. Exclusive Premises

2. Existential fallacy

3. Afirming the consequent
4. Denying the antecedent

Options :
227427924009. 1
22742792410. 2

22742792411. 3



22742792412. 4

Question Number : 28 Question Id : 22742723719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 4 B @ 91 SN G &l 2 oricn 98 ] ol 61 3 Farel 9 Te) o 51 39101, 39 Haal Toriioq

a8

1. TG LRI

) YWD Togy

3. B faYR-E

4. 3qdI Y QY
Options :
22742792409. 1
22742792410. 2
22742792411. 3

22742792412. 4

Question Number : 29 Question Id : 22742723720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Inductive arguments can only be stronger or weaker.

Statement (Il): Deductive arguments are either invalid or valid.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (1) and Statement (I1) are incorrect
3. Statement (1) is correct but Statement (I1) is incorrect
4 Statement (1) is incorrect but Statement (I1) is correct

Options :



22742792413.1
22742792414. 2
22742792415. 3

22742792416. 4

Question Number : 29 Question Id : 22742723720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- AT gfGad! $ad €6 O HHIR &l 9ddl g

Y II: FRTHATES Tfeaal ar dl oy gidl & a1 3¢ gidl €|

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. ®YF | MR I T &

2 Y| AR I GHf T 8

3. PYF | I §, dichd DY 11 3T B
4 DY | AUT T, Afh-T HYT | G &
Options :

22742792413, 1

22742792414 2

22742792415. 3

22742792416. 4

Question Number : 30 Question Id : 22742723721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following arguments the reason is counterbalanced by another reason as per classical Indian school of logic
(Nyay)?

(A). All things are non-etemal, because they are knowable.
(B). Fire Is cold because it is a substance.

(C). Sound is eternal because it is produced.

(D). Sound is a quality, because it is visible.

Choose the correct answer from the options given below:

1.(B)and(C
2 (A)and (D)
3.(C)and (D]
4. (B)and (D) only.

only.
only.

)
D)
)
)
Options :

22742792417. 1
22742792418. 2

22742792419. 3

22742792420. 4

Question Number : 30 Question Id : 22742723721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & YR QR <G A & S8R 5 H 9 foo gt 7 89 il 3 5q 3 foigfer 1 o 82
A GHT TG0 IR-T14d € i d 7B

B. +if fiqa gl & T T8 Tard &

C. A A% 3 FMfe 78 Iaifed gt 3l

D. @ 701 8 Fifs a8 X4 3

HTd few e faded T a8 IUYH IR &1 98 DI

1 $3aB AR C
2 BATAIRD
3 %aa C AR D
4 $aaB ARD

Options :

22742792417. 1
22742792418. 2
22742792419.3

22742792420. 4

Question Number : 31 Question Id : 22742723722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): MyGov. is a platform through which Government of India aims to encourage citizen participation towards good
govemance by seeking their ideas and suggestions.

Statement (1): MyGov platform is developed by three of the former Flipkart executives to provide a cashless and seamless
payment experience.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.

Options:



22742792421.1
22742792422. 2
22742792423. 3

22742792424. 4

Question Number : 31 Question Id : 22742723722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y |- TR (MyGov) T U1 Hd 2 fords W1eg ¥ 4R SR e ! & QI o el 347y iR iR i ot o 3
TGN &1 Uicdlied & Pl TiEd 3% ol

O |1 157 T ] Tuere o o d @it 4 e Uea d Faly YTaM 34a ToH & o fort fam i fovan 2|

TR BU & AP ¥ A G0 T fowedt o 8 W81 TR 31 957 B

L PH IR TH 90 e

2 O | NI G S B

3 T | T 5, e B 11 3l &
4 T | 3T & T 5 11 9T |
Options :
22742792421. 1
227427924222
22742792423. 3

22742792424. 4

Question Number : 32 Question Id : 22742723723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (1): Dropbox is an example of e-mail service on the Internet.

Statement (I1): Google Docs is an online word processor.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742792425. 1
22742792426. 2
22742792427.3
22742792428. 4

Question Number : 32 Question Id : 22742723723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HY |; STUEIFT Se3-e U1 5-40 9a1 &1 Uh 3aeu gl

®U |I: I S T HHcE do UR B

SWRId Y & Hciid |, Hid 15T T fadedl & T Tel IR &1 994 Siteg

1 Y 3RIGHI 9d g

2 ®YF | AN I GHf AET B

3 YT | Td &, Al HYF 1| 39T §
4 Y| MO g, dibd Y 11 T 8

Options:

22742792425. 1
22742792426. 2
22742792427.3

22742792428. 4



Question Number : 33 Question Id : 22742723724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Dynamic RAM (DRAM) is the most common type of RAM used in computers, but where absolute speed is
essential, Static RAM (SRAM) is the preferred technology.

Statement (1): The Processor's Memory Cache is the high speed portion of the memary and SRAM s the effective technology
for the same.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (1) is true.

Options:

22742792429. 1
22742792430. 2
22742792431.3

22742792432. 4

Question Number : 33 Question Id : 22742723724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U | T o T T (& 9 T O8) et # T i el 3R U O 1 i S R & TR ol R O T fard
Bl &, el TR R SR U 0 (U9 ofR U ) Tl ol e <) ol &

B [ TR 1 AR I A a1 o Tt T S 3R S 7T T R U O T e 2|
TG B & HH B A G0 T0 e & € Te S @1 99 P

1 T ANNITH T g

) T 13RI GHT 3 8

3 T | T 5, 110 3 || 99T
4 T | FTT . Tl B || 9



Options :

22742792429. 1
22742792430. 2
22742792431. 3
22742792432. 4

Question Number : 34 Question Id : 22742723725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements A-D about Internet Cookies is/are true?
{A). They are form of spyware.

(B). They are used only in advertising

(C). They are used to track browser use.

(D). They act in the same way as a virus.

Choose the correct answer from the options given below

1. (A) only.

2. (A) and (B) only
3. (C) only

4 (C)and (D) only.
Options :
22742792433. 1
22742792434, 2
22742792435. 3

22742792436. 4

Question Number : 34 Question Id : 22742723725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ZoeC Doie ey H FEfaRgd A-D H U SH 9/ $YF 98l 8/87

A § WEIR & TUE]

B. 3% ®ad fasgd § WaHT 8laT 1

C. 301 TN FI3o YO &1 Wa - & fow eidr el

D. d a133Y @1 O &) B & 8

LW Y

i< feu T faded! & ¥ Ted 3Ugad SR @1 99 Sieid

1. Had A
2 Had AR B
3. ®adC
4 HIAC AR D

Options :

22742792433, 1
22742792434. 2
22742792435. 3
22742792436. 4

Question Number : 35 Question Id : 22742723726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with reference to Organic Light-Emitting Diodes (OLEDs)?

(A). Because of plastic organic layers, OLEDs are much thicker and heavier than conventional LCD/LED formats.
(B). OLEDs give a brighter light than LEDs leading to more vivid colours.

(C). OLEDs produce a much larger field of view than LCD/LED formats.

(D). OLEDs require some form of back-lighting so that the screen can be lit up.

(E). OLEDs consume more power than LCD/LED formats and thus produce more heat.

Choose the correct answer from the options given below:

Options :

22742792437. 1
22742792438. 2
22742792439. 3
22742792440. 4

Question Number : 35 Question Id : 22742723726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IS (HTTHP) TOR Jvid 218 (HTaee) & God & Foffea d Yo S oA T8 &7

A TS TS el & PRY. WA Tadia ey Tyl (Bich 31 gl Hidse) e T 3R YR 8id &
B. TaisS) @l Qo ¥ HUcsl e dol HehTRl G & fordch B 7 e TP Bl 3

C. Taic T ) Brie & Sfie ucral e 98 o0 & @1 T &Y ol

D. fUcisa! ! ol TR & U4 @R 91 HaRT®d1 ol & o WM Y g 99|

E o ues el Bial &1 fUaT HUss! A® 9ol 1 SUHI &% & 9N 31d: i W1 3 oia g

T few T foeedt 4 99 IUH IR &1 9H B

1. 5q0A BN C
) %908, C ARE
3. %40 C, D 3IRE
4 BIABINC

Options :

22742792437. 1
22742792438. 2
22742792439. 3
22742792440. 4

Question Number : 36 Question Id : 22742723727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Concept of salt gradient is utilized to store the heat energy in which of the following solar energy collecting systems?

1. Solar thermal collectors
2. Solar cells

3. Solar ponds

4 Solar kilns

Options:
22742792441. 1
22742792442, 2

22742792443. 3



22742792444, 4

Question Number : 36 Question Id : 22742723727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fet W) et TG0 Ol fo o] H 3 G5l b Y/ GRU b foTU <l ol 1 Wbt ol T ] i 62

1 9% a0 950
2 IR
3 ORam
4 BR e

Options :

22742792441. 1
22742792442, 2
22742792443, 3
22742792444, 4

Question Number : 37 Question Id : 22742723728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Full form of PAN, a type of air pollutant, is

1. Polycyclic Aromatic Nitrate
2. Polycyclic Acetyl Nitrate

3. Peroxy Aromatic Nitrate

4 Peroxy Acetyl Nitrate

Options :

22742792445. 1
22742792446. 2
22742792447. 3
22742792448. 4



Question Number : 37 Question Id : 22742723728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
9 UgN®| & UP UBR , PAN BT U A1 FE H ¥ &F 91 8?2

1. Uil gsidas WHk® 5de
2. UriiEgiae Uferge Agde
3. IR Wi Agee
4. I URersd g

Options :

22742792445. 1
22742792446. 2
22742792447.3

22742792448. 4

Question Number : 38 Question Id : 22742723729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I). Two categories of Ozone Depleting Substances (ODS) were class | and class |
Statement (I1): Production of class |l ODS ceased in 2000.

In light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement (1) and Statement (1I) are correct.

. Both Statement (I) and Statement (11) are incorrect

- Statement (1) is correct but Statement (11} is incorrect
- Statement (1) is incorrect but Statement (11) is correct

L O —

o

Options :

22742792449. 1
22742792450. 2
22742792451, 3

22742792452. 4



Question Number : 38 Question Id : 22742723729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792449 1

22742792450. 2

22742792451. 3

22742792452. 4

Question Number : 39 Question Id : 22742723730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Formaldehyde, widely used in plastics, wood products, insulating materials, glue and fabrics, is a serious
allergen.

Reason (R) : Allergens are substances that activate the immune system
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.



Options :

22742792453. 1
22742792454, 2
22742792455, 3

22742792456. 4

Question Number : 39 Question Id : 22742723730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792453. 1

22742792454 2

22742792455, 3

22742792456. 4

Question Number : 40 Question Id : 22742723731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During which one of the following the Convention on Biodiversity was opened for signature?

1. Rio Summit

2. Stockholm conference
3. Ramsar convention

4. Montreal Protocol

Options :

22742792457. 1
22742792458. 2
22742792459. 3

22742792460. 4

Question Number : 40 Question Id : 22742723731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792457. 1
22742792458. 2
22742792459. 3

22742792460. 4

Question Number : 41 Question Id : 22742723732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Hindu college of Calcutta was later renamed as

_ Surendranath college

- Ram Mohan Roy college
University/College

. Presidency college

[

o

Options :

22742792461. 1
22742792462. 2
22742792463. 3

22742792464. 4

Question Number : 41 Question Id : 22742723732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792461. 1
22742792462. 2
22742792463.3

22742792464. 4

Question Number : 42 Question Id : 22742723733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dr. B. R. Ambedkar was associated with

{A). Elphinstone college, Mumbai

(B). Khalsa college, Mumbai

(C). Milind college, Aurangabad

(D). Siddharth college, Mumbai

(E). Fergusson college, Pune

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4. (A), (D) and (E) only.
Options :
22742792465. 1
22742792466. 2
22742792467. 3

22742792468. 4

Question Number : 42 Question Id : 22742723733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792465. 1
22742792466. 2
22742792467. 3
22742792468. 4

Question Number : 43 Question Id : 22742723734 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Policy on Education (1986) intended to encourage inter-disciplinary research in social science.
Statement (1) According to the National Policy on Education (1986) the idea of rural universities was untenable.

In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (11} Is false.
4 Statement (1) is false but Statement (II) is true.

Options:

No



22742792469. 1
22742792470. 2
22742792471. 3

22742792472. 4

Question Number : 43 Question Id : 22742723734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792469. 1
22742792470. 2
22742792471. 3

22742792472. 4

Question Number : 44 Question Id : 22742723735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following fundamental principles of education are highlighted under New National Education Policy (2020)?
(A). Higher education as a fundamental right.

(B). Multi-disciplinarity and holistic education.

(C). Outstanding research as part of higher education.

(D). Promotion of multilingualism in teaching and learning.

(E). Setting up of another knowledge commission.

Choose the correct answer from the options given below:

(A), (B) and (C) only.
(B), (C) and (D) only
©) (

(D)and (

)
C), (D) and (E) only

),
),
),
(A), (D) and (E) only.

1
2
3
4
Options :

22742792473. 1
22742792474. 2
22742792475. 3

22742792476. 4

Question Number : 44 Question Id : 22742723735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427924731
22742792474. 2
22742792475. 3
22742792476. 4

Question Number : 45 Question Id : 22742723736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Environmental education is needed for:

{A). Conservation of natual resources.

(B). Knowledge of causes of pollution.

(C). Knowledge of measures to prevent pollution.

(D). Extensive extraction of natural resources.

(E). Economising on scientific invention.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B), (C) and (D) only
3. (C), (D) and (E).

4. (A), (D) and (E) only.
Options :
22742792477.1
22742792478. 2
22742792479. 3

22742792480. 4

Question Number : 45 Question Id : 22742723736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742792477. 1
22742792478. 2
22742792479. 3

22742792480. 4

Sub-Section Number : 3
Sub-Section Id : 227427930
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742723737 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage carefully and answer the questions given below:

Saving energy means saving money. Homeowners and renters know this basic fact, but they often don't know what kinds of
adjustments they can make in their homes and apartments that will result in savings.

For those willing to spend some time and money to reap long-term energy savings, an energy audit is the way to go. An energy
auditor will come into your home and assess its energy efficiency. The auditor will pinpoint areas of your home that use the most
energy and offer solutions to lower your energy use and costs. Trained energy auditors know what to look for and can locate &
variety of flaws that may be resulting in energy inefficiency, including inadequate insultion, construction flaws, and uneven heat
distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is o replace incandescent lights
with fluorescents. This can result in a savings of more than 50% on your monthly lighting costs. When it's time to replace old
appliances, if's wise to spend & bit more for an energy-efiicient model, and be sure that you are taking advantage of energy-
saving settings already on your current refrigerator, dishwasher, washing machine, or dryer.

Windows provide another opportunity to cut your energy costs. Caulk old windows that might be leaky to prevent drafts, and
choose double-paned windows if you're building an addition or replacing old windows.

Most areas of your home or apartment offer opportunifies o save energy and money. The results are significant and are well
worth the effort.

Sub questions

Question Number : 46 Question Id : 22742723738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage indicates that old appliances

1. Consume more energy.
2. Consume less energy.
3. Work well.

4 Have long life.

Options :

22742792481. 1
22742792482. 2
22742792483. 3

22742792484. 4



Question Number : 47 Question Id : 22742723739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

With reference to the fourth paragraph of the passage, the meaning of the word 'Caulk’ is

_to shut

- to make more attractive

_to fill the holes

4 to find the cause of a problem

[ O

Options:

22742792485. 1
22742792486. 2
22742792487. 3
22742792488. 4

Question Number : 48 Question Id : 22742723740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, double-paned windows

1. should never be used as replacement windows or in new additions to homes
2. can't be repaired

3. will lower your heating costs by 50%

4 are energy efficient

Options:

22742792489. 1

22742792490. 2

22742792491. 3

22742792492. 4

Question Number : 49 Question Id : 22742723741 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, which of the following would an energy auditor do?
(A). Locate a variety of flaws that may result in energy inefficiency and fix them.
(B). Check for construction flaws

(C). Look for problems with heat distribution

(D). Offer solutions to lower your energy costs

Choose the correct answer from the options given below:

1. Aonly.

2. B and C only.

3. C and D only.
4 B, CandD only

Options :

22742792493. 1
22742792494, 2
22742792495. 3

22742792496. 4

Question Number : 50 Question Id : 22742723742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ideas is not included in the passage?

1. You can reduce your monthly lighting costs by more than 50% by using fluorescent bulbs instead of incandescent.
2. Double-paned windows can cut energy costs.

3. Energy audit for every home and apartment should be mandatory in India.

4 Some appliances have energy-saving settings.

Options:

22742792497. 1

22742792498. 2



22742792499. 3
22742792500. 4

Question Id : 22742723737 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742723738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792481. 1
22742792482. 2
22742792483. 3
22742792484. 4

Question Number : 47 Question Id : 22742723739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792485. 1
22742792486. 2
22742792487. 3
22742792488. 4

Question Number : 48 Question Id : 22742723740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792489. 1
22742792490. 2
22742792491.3

22742792492. 4

Question Number : 49 Question Id : 22742723741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792493, 1
22742792494. 2
22742792495. 3
22742792496. 4



Question Number : 50 Question Id : 22742723742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fofofea & 9 o 91 e e & et w8 3

1, 91 & 9e8l & W[ W Wi @ Seal o WAl ¥ 31 0 A1 TRH ard B1 50 % ¥ s a 91 99d &
) I 0 a1t fare Tt ol @ © deldl 3% 9ddl &

3. YRA H ol T T W d Wie & oY 3ffar & 9 At

4 59 W T Gl 590 & AR il 8|

Options :

22742792497. 1
22742792498. 2
22742792499. 3

22742792500. 4
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Question Number : 51 Question Id : 22742723743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to James W. Carey ‘Communication that is directed not towards the extension of message in space but towards the
maintenance of society in time," is

1. Spatial view of Communication

2. Phenomenal view of Communication
3. Spiritual view of Communication

4. Ritual view of Communication
Options:
22742792501. 1
22742792502. 2
22742792503. 3

22742792504. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742792501. 1
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Question Number : 52 Question Id : 22742723744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

State Funding of recognized Political parties through free use of the state-owned Television and radio was introduced in the year

Options:

22742792505. 1
22742792506. 2
22742792507. 3
22742792508. 4
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Options :

22742792505. 1
22742792506. 2
22742792507. 3

22742792508. 4



Question Number : 53 Question Id : 22742723745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The GAST-24 1s a 24-Ku Communication satellite launched by Government of India to cater the requirement of DTH application
needs of

1. Tata Play

2 Dish Tv

3. DD Direct Plus

4. All of the Above Option

Options:

227427925009. 1
22742792510. 2
22742792511. 3
22742792512. 4
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Minimum Instruction Time: 0
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227427925009. 1
22742792510. 2
22742792511.3

22742792512. 4



Question Number : 54 Question Id : 22742723746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is incorrect in the context of cinematography (Amendment) Act

1. APart from cam-cording, the real menace of online piracy made punishable.

2. Government has done away with the requirement to renew Film’s license every 10 year

3. Strict punishment of minimum 6-month imprisonment and fine of the Rs 1 lakhs, which can be extended up to 2 years
Imprisonment and 5 lakhs of fine

4. Recertification is required for the edited film for Television broadcast.

Options:
22742792513. 1
22742792514. 2

22742792515. 3
22742792516. 4

Question Number : 54 Question Id : 22742723746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Options :

22742792513. 1
22742792514. 2
22742792515. 3

22742792516. 4



Question Number : 55 Question Id : 22742723747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The placing of a unit analysis into a particular category is known as

. Clustering
. Coding

. Framing

. 5caling

L L

F =N

Options :

22742792517. 1
22742792518. 2
22742792519.3

22742792520. 4

Question Number : 55 Question Id : 22742723747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fa=eiaur @1 Uo gors @I [l fafy 4ol & 3@+ 1 39 T 5 S 51l &

1. GHEA (Tw8) (el
2. Ted (@ife)
3. OISy (Th{H)

4 HIUF ([daa)

Options :

22742792517. 1
22742792518. 2
22742792519. 3

22742792520. 4

Question Number : 56 Question Id : 22742723748 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Those who do not read the newspaper, are uninformed and those who do read the newspaper are misinformed’ who said this?

1. Albert Eistein

2. Emest Hemingway
3. Charles Dickens
4 Mark Twain

Options :

22742792521. 1
22742792522. 2
22742792523.3

22742792524. 4

Question Number : 56 Question Id : 22742723748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
{1 et 1 o 95 W GHTORTA e Ve &, d QeHIde ald & AN d ol YURERE Ued & d YHd Ga1-904 Bid 62

1. Heee HLHeH

2 e gt

4.9 ¢
Options :
22742792521. 1
22742792522, 2
22742792523. 3

22742792524. 4

Question Number : 57 Question Id : 22742723749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which a test actually measures what it purports to measure is known as

Validity
Variance
. Stability
_Artifact

[ L

=

Options :

22742792525. 1
22742792526. 2
22742792527. 3
22742792528. 4

Question Number : 57 Question Id : 22742723749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
ol udiem & gg Ii91 ford U8 IRad § AU &1 3199 394l 5, 34 $el oldl 67

1. gYdr

2. THI

4. - '\q -EE_ﬂi{[
Options :
22742792525. 1
22742792526. 2
22742792527. 3

22742792528. 4

Question Number : 58 Question Id : 22742723750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fundamental duties of every citizen of India are mentioned in article

L R —
[0 R Y [ o |
e e R0 o
P

©n

L

Options :

22742792529. 1
22742792530. 2
22742792531.3

22742792532. 4

Question Number : 58 Question Id : 22742723750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YR & U RS & Hiied decdl & Ioaid [y 3I=5g H [6al 7T 872
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Options:

22742792529. 1
22742792530. 2
22742792531.3

22742792532. 4

Question Number : 59 Question Id : 22742723751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Vikram Sarabhai is closely associated with

1. AIR

2. Bhabha Atomic Research Centre
3 ISRO

4 SITE

Options :

22742792533. 1

22742792534, 2

22742792535. 3

22742792536. 4

Question Number : 59 Question Id : 22742723751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[ TRT 4Tg [ ad 9y &9 4 s gy 47

1. 315 3R
2. YT TRA] STHYH &%
4. T3C (TH 38 1%)

Options:

22742792533. 1
22742792534. 2
22742792535.3

22742792536. 4

Question Number : 60 Question Id : 22742723752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dialogue capability through the video chat in Snapchat was added on

May 2014
June 2015
Viay 2015
Viay 2016

1.
2.
g 3

— e
—

4

—

Options :

22742792537. 1
22742792538. 2
22742792539. 3

22742792540. 4

Question Number : 60 Question Id : 22742723752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Qude | difsal & Aread 9 Ia1g B S &Hd S TR

1.1 93 2014

2. 194 2015

3. 193 2015

4 193 2016
Options:
22742792537. 1
22742792538, 2
22742792539. 3

22742792540. 4

Question Number : 61 Question Id : 22742723753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Digital Videodiscs (DVDs), which combine the quality and durability of CDs with the popularity of Videotapes, are introduced in)

Options :

22742792541. 1
22742792542. 2
22742792543. 3

22742792544. 4

Question Number : 61 Question Id : 22742723753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fforea difedl fow (1 di ) sife difeal 20 1 i aa Wigd Ui 1 101w T oo &1 §4d ol § 390! (b8 a
[ 317 o

Options:

22742792541. 1
22742792542. 2
22742792543.3
22742792544. 4

Question Number : 62 Question Id : 22742723754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who worked on the significance of the shift from oral to textual communication in ancient times?

1. Rozer Federer
2. Walter Orige

3. Denis Mcquail
4 James Heart
Options :
22742792545. 1
22742792546. 2
22742792547. 3

22742792548. 4

Question Number : 62 Question Id : 22742723754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T T 8 Hifde I Wfeqd dudas 8 yRadd & Hed 1R fdg- & faar?

| E-':-'@’E aié‘z‘{

2 Gice? A
3 sfg fegem
4 GBS
Options:
22742792545, 1
22742792546. 2
22742792547 3

22742792548. 4

Question Number : 63 Question Id : 22742723755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Avoiding Commercials while videotaping by using the pause button, known

1. Zipping

2. Zapping

3 Zimes

4 Admonition
Options :
22742792549, 1
22742792550. 2
22742792551. 3

22742792552. 4

Question Number : 63 Question Id : 22742723755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faem (Uie) 9271 & van gy difsar ftv & 9oy fogmaat ¥ 991 $eandl a—

1. It

2. ST

3. lgH

4 TSHIHEH
Options:
22742792549. 1
22742792550. 2
22742792551. 3

22742792552. 4

Question Number : 64 Question Id : 22742723756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



s pleasure to look at another person as an erotic object

1. Ego libido

2. Vertigo

3. Scopophilic instinct
4 Vicissitude
Options :
22742792553. 1
22742792554, 2
22742792555. 3

22742792556. 4

Question Number : 64 Question Id : 22742723756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792553. 1
22742792554, 2
22742792555. 3
22742792556. 4

Question Number : 65 Question Id : 22742723757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Clualitative Research will often use

1. Snowball Sampling

2. Random Sampling

3. Convenience Sampling
4 Voluntary Sampling
Options :

22742792557. 1
22742792558. 2
22742792559. 3

22742792560. 4

Question Number : 65 Question Id : 22742723757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

bl
A,

NUGRHIEEE? T01E &7 UM U 39H
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2. giefesd UidagH
3. gfaun uid=gd
4 s Uidaa

Options:

22742792557. 1
22742792558. 2
22742792559. 3
22742792560. 4

Question Number : 66 Question Id : 22742723758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the duration of daily Capsule based program ‘Azadi ka Safar Akash Vani ka Saath’

1. 5 Minutes

2. 10 Minutes

3. 15 Minutes

4 20 Minutes
Options :
22742792561. 1
22742792562. 2
22742792563. 3

22742792564. 4

Question Number : 66 Question Id : 22742723758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792561. 1
22742792562. 2
22742792563.3

22742792564. 4

Question Number : 67 Question Id : 22742723759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In past-Fordist era describes social structure as--——--

1. The information society
2. The network society

3. Technical society

4. Liberal society
Options :

22742792565. 1
22742792566. 2
22742792567. 3

22742792568. 4

Question Number : 67 Question Id : 22742723759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IR - BifEE g & wmiiee Sa1ei &1 aftfd 39 8 Wae o3l &

1. ga1 999

2 Hedd gragd
3. Wi ga9re
4 JER GH

Options:

22742792565. 1
22742792566. 2
22742792567.3
22742792568. 4

Question Number : 68 Question Id : 22742723760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The father of online Messages Service is called:

. Garry Thewreck

_ Charles Babbage
. Smith

~Jhon Devis

[ s

o

Options :

22742792569. 1
22742792570. 2
22742792571.3

22742792572. 4

Question Number : 68 Question Id : 22742723760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SIS YR Ual &1 oiHd [y JH1 o1dl 872

1. TR "R@

2 I ddv]

3. fay

4. 94 MY
Options:
22742792569. 1
22742792570. 2
22742792571.3

22742792572. 4

Question Number : 69 Question Id : 22742723761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year the weekly ‘India Gazette’ started publication?

1950
1960
4965
1970

[

o

Options :

22742792573. 1
22742792574. 2
22742792575. 3

22742792576. 4

Question Number : 69 Question Id : 22742723761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792573. 1
22742792574. 2
22742792575.3
22742792576. 4

Question Number : 70 Question Id : 22742723762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The original process of printing founded by Gutenberg in 1440 is

1. Reprographics

2. Thermograph

3. Letter press

4. Offset Lithography

Options :
22742792577. 1
22742792578. 2

22742792579. 3

22742792580. 4

Question Number : 70 Question Id : 22742723762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ay 1440 ¥ T[ear gRI UG 501 () &1 9 uishar dean e

1. Rumisag

2 YHE

3. A Ug

4. ATHYe foTURI®]

Options:

22742792577. 1
22742792578. 2
22742792579.3

22742792580. 4

Question Number : 71 Question Id : 22742723763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who won the highest number of Academy Awards for the best actress?

1. Katherine Hepburn
2. Merlyn Streep

3. Marlyin Manroe

4 Brooke Sheilds
Options :
22742792581. 1
22742792582. 2
22742792583. 3

22742792584. 4

Question Number : 71 Question Id : 22742723763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 HY{ gue-
2. HiciH Eﬁ-q
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4 g Tlgd
Options:
22742792581. 1
22742792582. 2
22742792583.3

22742792584. 4

Question Number : 72 Question Id : 22742723764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



With which technology Robot and Smart Machines are working?

1. Industry 3.0 technology
2. Industry 4.0 technology
3. Industry 5.0 technology
4 |ndustry 6.0 technology
Options:

22742792585. 1
22742792586. 2
22742792587. 3

22742792588. 4

Question Number : 72 Question Id : 22742723764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dsie v w1é w7y Fafaiad e dieiie w (@) o s W@ g 2

1. 3T 3.0 W]
2. Il 4.0 Ui
3. 3l 5.0 Ui
4. I 6.0 Ui
Options:

22742792585. 1
22742792586. 2
22742792587. 3

22742792588. 4

Question Number : 73 Question Id : 22742723765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How many articles were there in Universal Declaration of Human Rights (UDHR)?

n

[ L
=

n

L

o
=

Options :

22742792589. 1
22742792590. 2
22742792591. 3

22742792592. 4

Question Number : 73 Question Id : 22742723765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792589. 1
22742792590. 2
22742792591.3

22742792592. 4

Question Number : 74 Question Id : 22742723766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Participation Theory is associated with

1. Vroom

2. M.C Gregory
3. Maslow

4. Taylor
Options :
22742792593. 1
22742792594, 2
22742792595. 3

22742792596. 4

Question Number : 74 Question Id : 22742723766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
eyl FisT fhad defed 82
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Options:
22742792593. 1
22742792594, 2
22742792595. 3

22742792596. 4

Question Number : 75 Question Id : 22742723767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



DHCP stands for

1. Domain Host Control Protocol

2. Domain Host Connectivity Protocol

3. Domain Host Computer Program

4. Domain Host Communication Program

Options :

22742792597. 1
22742792598. 2
22742792599. 3

22742792600. 4

Question Number : 75 Question Id : 22742723767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792597. 1
22742792598. 2
22742792599. 3
22742792600. 4

Question Number : 76 Question Id : 22742723768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What are the function of managers- Planning, organizing, . Coordination and controlling

. Function

. Commanding
- Skilling

. Dictatorship

[ e

o

Options :

22742792601. 1
22742792602. 2
22742792603. 3
22742792604. 4

Question Number : 76 Question Id : 22742723768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

] & FERed B G TPH & 23 ST, 9iad Bl A9 WIfUd 1 T4 FOa0 Bl

1. B A

2. JHIGTH

3. B SRR

4 dHRTe
Options:
22742792601. 1
22742792602. 2
22742792603. 3

22742792604. 4

Question Number : 77 Question Id : 22742723769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is the author of the book “isual Pleasure and Narrative Cinema’ 19757

1. Paul Gilory

2. John Berger
3. Neil Postman
4. Laura Mulvey
Options :
22742792605. 1
22742792606. 2
22742792607. 3

22742792608. 4

Question Number : 77 Question Id : 22742723769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tao(3fd Wiwik UUs Rfeg =0T 1975 99& KD &I 8D B 872
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Options:
22742792605. 1
22742792606. 2
22742792607. 3

22742792608. 4

Question Number : 78 Question Id : 22742723770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When was Commercials were introduced on AIR?

1. 15t Nov 1967
2. 15! Dec 1969
3. 15" Aug 1967
4. 26" Jan 1967
Options :
227427926009. 1
22742792610. 2
22742792611. 3

22742792612. 4

Question Number : 78 Question Id : 22742723770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

—
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1. 19deR, 1967
2 1 feEsR, 1969
3. 15 3T, 1967
4 26 943, 1967
Options:
22742792609. 1
22742792610. 2
22742792611. 3

22742792612. 4

Question Number : 79 Question Id : 22742723771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Total coverage by television and radio of a given geographic area is

1. Blank Coverage

2. National Coverage
3. Zero Coverage

4 Blanket Coverage
Options :
22742792613. 1
22742792614. 2
22742792615. 3

22742792616. 4

Question Number : 79 Question Id : 22742723771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

farddt f&u e 2o &3 o gRax U9 Sl &1 oo davd & &

1. Rad (&) A
4. AD (ide) DAl

Options:

22742792613. 1
22742792614. 2
22742792615.3

22742792616. 4

Question Number : 80 Question Id : 22742723772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is Ransomware?

1. ltis a Virus

2. ltis a type of Malware

3. Itis a hardware part of a computer
4 It is a network Security tool.

Options :
22742792617. 1
22742792618. 2

22742792619. 3

22742792620. 4

Question Number : 80 Question Id : 22742723772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
3 gHImR 1 82
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Options:

22742792617. 1
22742792618. 2
22742792619.3

22742792620. 4

Question Number : 81 Question Id : 22742723773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is OTT

1. Online Text Transfer

2. Online Television Transmission
3. Over the table

4. Qver the top

Options :

22742792621. 1

22742792622. 2

22742792623. 3

22742792624. 4

Question Number : 81 Question Id : 22742723773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. AR CHe 2B
2. R coHiide e
3. HAld¥ g ddd

4 ARG

Options:

22742792621. 1
22742792622. 2
22742792623.3
22742792624. 4

Question Number : 82 Question Id : 22742723774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When was ‘Krishi Darshan’ Program launched on television for the first time?
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Options :

22742792625. 1
22742792626. 2
22742792627. 3
22742792628. 4

Question Number : 82 Question Id : 22742723774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Coifae IR Yol Ugd DY G2 BAHH e URY g Y12

L kR —
R L g
0w 0 O w0
[y R |
- h O

i
(]
[

Options:

22742792625. 1
22742792626. 2
22742792627.3

22742792628. 4

Question Number : 83 Question Id : 22742723775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a dimension of global cultural flow?

1. Astroscapes

2. Technoscapes
3. Financescapes
4 Mediascapes
Options :
22742792629. 1
22742792630. 2
22742792631. 3

22742792632. 4

Question Number : 83 Question Id : 22742723775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. T Y
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3. B4 ¥y
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Options:
22742792629. 1
22742792630. 2
22742792631. 3

22742792632. 4

Question Number : 84 Question Id : 22742723776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which is the First film school of the world?

1. Mascow Film school
2. Perish Film schoaol
3. Bancour Film school
4. British Film school
Options :
22742792633. 1
22742792634, 2
22742792635. 3

22742792636. 4

Question Number : 84 Question Id : 22742723776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792633. 1
22742792634. 2
22742792635. 3

22742792636. 4

Question Number : 85 Question Id : 22742723777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of these is not an example of body language?

- Facial expressions
. Gestures

. Emoiji

. Postures
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Options :

22742792637. 1
22742792638. 2
22742792639. 3

22742792640. 4

Question Number : 85 Question Id : 22742723777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
=78 U B9 Ud &g HINT (HTd Ui &7 Ieew 387 22

1. @y g3
4. HfTmET

Options:

22742792637. 1
22742792638. 2
22742792639.3

22742792640. 4

Question Number : 86 Question Id : 22742723778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When was the first web browser released in the world?
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Options :

22742792641. 1
22742792642. 2
22742792643. 3

22742792644. 4

Question Number : 86 Question Id : 22742723778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792641. 1
22742792642. 2
22742792643.3
22742792644. 4

Question Number : 87 Question Id : 22742723779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who recommended the setting up of a Press Council?

1. The President of India

2. The Press Commission

3. The Legislative Body of India

4. The Newspaper organization in India

Options :
22742792645. 1
22742792646. 2

22742792647. 3

22742792648. 4

Question Number : 87 Question Id : 22742723779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742792645. 1
22742792646. 2
22742792647.3

22742792648. 4

Question Number : 88 Question Id : 22742723780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following Commitiee had stated that “Doardarshan is an essential medium of mass communication and must
be viewed not as an adjunct of Radio?

1. Chanda Committee

2. Palekar Committee

3. Joshi Committee

4 Varghese Commitiee
Options :
22742792649. 1
22742792650. 2
22742792651. 3

22742792652. 4

Question Number : 88 Question Id : 22742723780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742792649. 1
22742792650. 2
22742792651.3

22742792652. 4

Question Number : 89 Question Id : 22742723781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year HDTV broadcasting officially begain?

1. 1968

2.1978

3. 1998

4 2000
Options :
22742792653. 1
22742792654. 2
22742792655. 3

22742792656. 4

Question Number : 89 Question Id : 22742723781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T gt & d1 ER0 SNfYeiRe dR IR e & gofk:

1.1968

21978

3. 1998

4 2000
Options:
22742792653. 1
22742792654. 2
22742792655. 3

22742792656. 4

Question Number : 90 Question Id : 22742723782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who won the best actress award in the 95" Academy Award?

1. Michelle Yan

2 Jamie lee curtis
3. Jessica Chastain
4 Michelle Yeoh
Options :
22742792657. 1
22742792658. 2
22742792659. 3

22742792660. 4

Question Number : 90 Question Id : 22742723782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742792657. 1
22742792658. 2
22742792659. 3

22742792660. 4

Question Number : 91 Question Id : 22742723783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one are the types of non-verbal communication?
A_ Kinesics

B. Proxemics

C. Posture and gesture

D. Presentation

E. Speech

Choose the correct answer from the options given below:

1. A B, E Only
2.D,A, EOnly
3. A B, COnly
4 A B, Donly

Options :

22742792661. 1
22742792662. 2
22742792663. 3
22742792664. 4

Question Number : 91 Question Id : 22742723783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA 3B E

2 @adD ARA E

3. ®ad A B 3R C

4 HAdA B. C 3RD
Options :
22742792661. 1
22742792662. 2
22742792663. 3

22742792664. 4

Question Number : 92 Question Id : 22742723784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the autonomous organizations?

A_Film & Television Institute of India, Pune

B. Prasar Bharti

C. Central Board of Film Certification

D. Satyajit Ray Film & television Institute, Kolkata

E Publication Division

Choose the correct answer from the options given below:

1. A, B and C only
2. A BandD only
3. B, Cand D only
4 C,DandE only

Options :

22742792665. 1
22742792666. 2
22742792667. 3
22742792668. 4

Question Number : 92 Question Id : 22742723784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792665. 1
22742792666. 2
22742792667. 3

22742792668. 4

Question Number : 93 Question Id : 22742723785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the correct statement from the following:

A_Alliance of forces related to culture and communication is clearly visible in present day India.

B. ‘Culture Industry’ is prospering very well with the convergence of culture and communication.

C. Role of Culture industry is significant as a new factor in the social conditions of developing countries.
D. According to a Latin American writer culture industry is not merely a tool

E. Culture Industry creates ideology.

Choose the correct answer from the options given below:

1.B, C, D and E only
2.A B, C,DandE only
3. C, Dand E only

4. A BandD only

Options :

22742792669. 1
22742792670. 2
22742792671.3
22742792672. 4

Question Number : 93 Question Id : 22742723785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792669. 1
22742792670. 2
22742792671.3
22742792672. 4

Question Number : 94 Question Id : 22742723786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the correct statement from the following:

A_ Nehru conceived of a school, one cooperative and one Panchayat for every village in India.
B. Sarabhai thought of providing one television set for every village besides these

C. Sarabhai held that the poor in particular may not be benefited from community television

D. Community television shall be helpful for cooperatives and Panchayats

E. Transfer of technology from the west in the form of Radio and television is sufficient for India
Choose the correct answer from the options given below:

1.B, Cand D only
2.C DandE only
3.A C Eonly
4 A B, Conly

Options :

22742792673. 1
22742792674. 2
22742792675. 3

22742792676. 4

Question Number : 94 Question Id : 22742723786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 %qdB. C. D
2 $9dC D E
3 ®9dA C.E
4 $H9dA B, C

Options :

22742792673. 1
22742792674. 2
22742792675. 3

22742792676. 4

Question Number : 95 Question Id : 22742723787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the correct statements:
A Lenin Welcomed Radio as paperless newspaper’
B. Lenin provided all facilities for invention to engineers for development of Radio technology.

C. According o Lenin, loudspeakers and speakers have been developed in such a way that hundreds of receivers may be easlly
produced.

D. Newspaper read in Britain can be listed on radio throughout Britain
E. Transistor revolution has facilitated the reach of radio to millions of people.
Choose the correct answer from the options given below:

1.B,C, Dand E only
2.A B CandEonly
3.C,Dand E only
4 E CandD only

Options :

22742792677. 1
22742792678. 2
22742792679. 3
22742792680. 4

Question Number : 95 Question Id : 22742723787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792677. 1
22742792678. 2
22742792679. 3

22742792680. 4

Question Number : 96 Question Id : 22742723788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the Films nominated for Oscar awards?

A_ Mother India

B. Devdas

C. Salaam Bombay

D. Lagaan

E. Gadar

Choose the correct answer from the options given below:

1. B, Cand D only
2. A CandD only
3. C,DandE only
4 A DandE only

Options :

22742792681. 1
22742792682. 2
22742792683. 3
22742792684. 4

Question Number : 96 Question Id : 22742723788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742792681. 1
22742792682. 2
22742792683. 3

22742792684. 4

Question Number : 97 Question Id : 22742723789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the types of Intra-Media competition?

A. Perfect Competition

B. Holistic Competition

C. Oligopoly

D. Monopoly

E. Holypoly

Choose the correct answer from the options given below:

1. A, B and C only
2. A CandD only
3. B, Cand D only
4 C,DandE only

Options :

22742792685. 1
22742792686. 2
22742792687. 3
22742792688. 4

Question Number : 97 Question Id : 22742723789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B C
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Options :

22742792685. 1
22742792686. 2
22742792687. 3

22742792688. 4

Question Number : 98 Question Id : 22742723790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Features of web 3.0 are

A. Social Networking

B Al

C. Metaverse Worlds

D. Centralized

E. Decentralized

Choose the correct answer from the options given below:

1. A, B and D only
2. A BandC only
3. B, Cand E only
4 B, CandD only

Options :

22742792689. 1
22742792690. 2
22742792691. 3

22742792692. 4

Question Number : 98 Question Id : 22742723790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $dd A B3R D
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3. ®ad B C3iRE
4 HAdB. C3ARD
Options :
22742792689. 1
22742792690. 2
22742792691. 3

22742792692. 4

Question Number : 99 Question Id : 22742723791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify Automatic elections flash devices from the following
A_Bounce Flash

B. Single Flash

C. Black and White Flash

D. Red Eye

E. Colour Flash

Choose the correct answer from the options given below:

1. B, D and E only
2. A BandD only
3. C,DandE only
4 A CandD only

Options :

22742792693. 1
22742792694. 2
22742792695. 3
22742792696. 4

Question Number : 99 Question Id : 22742723791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $9dB D E
2 ®adA B. D
3. ®adC D E
4 HAAA C D
Options :

22742792693. 1
22742792694, 2
22742792695. 3

22742792696. 4

Question Number : 100 Question Id : 22742723792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Theories are related to advertising?
A DAGMAR theory

B. Play Theory

C. Eda Theory

D. Bullet Theory

E. Papa Theory

Choose the correct answer from the options given below:

1. A, CandE only
2. A CandD only
3. B, Cand D only
4 C,DandE only

Options :

22742792697. 1
22742792698. 2
22742792699. 3
22742792700. 4

Question Number : 100 Question Id : 22742723792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 HAAC, D, ARE
Options :
22742792697. 1
22742792698. 2
22742792699. 3

22742792700. 4

Question Number : 101 Question Id : 22742723793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the elements of script?

A Writing

B. Beginning

C. End

D. Middle

E. Story

Choose the correct answer from the options given below:

1. A, Eand B Only
2. A CandE Only
3. B, Dand C Only
4 A BandC Only

Options :

22742792701. 1
22742792702. 2
22742792703. 3

22742792704. 4

Question Number : 101 Question Id : 22742723793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddE A B
2 HadA C E
3. ®adB. D C
4 HAdA B. C
Options :
22742792701. 1
22742792702. 2
22742792703. 3

22742792704. 4

Question Number : 102 Question Id : 22742723794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify correct explanation of terms related to TV. Programme production:

A Montage — collections of some selected important shots in programme which indicate the content of original programme
B. Camera Script — written technical instructions for the cameraman on the basis of original script

C. Desolve — method of shifting from one scene to another scene

D. Plasma — Ahuge flat screen TV set.

E. White Balance — controlling the ancoder matrix of camera by special button by placing a white paper infront of the camera
prior to shooting.

Choose the most appropriate answer from the options given below:

1.A Band D Only
2.B,Cand D Only
3.B,Cand E Only
4.C,Dand E Only

Options :

22742792705. 1
22742792706. 2
22742792707. 3
22742792708. 4

Question Number : 102 Question Id : 22742723794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 $4TA B,D
2 &q4B, C, D
3 9948, C, E
4 90C D, E

Options :

22742792705. 1
22742792706. 2
22742792707. 3

22742792708. 4

Question Number : 103 Question Id : 22742723795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following films were not directed by Satyajit Ray?
A. Meghe Dhaka Tara

B. Charulata

C. Ajantrik

D. Pather Panchali

E. Gyanshatru

Choose the correct from the options given below

1. Aand E Only
2. Aand C Only
3. Cand E Only
4. C and D Only

Options :

227427927009. 1
22742792710. 2
22742792711.3
22742792712. 4

Question Number : 103 Question Id : 22742723795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. PATAIRE
2 Had AR C
3. Had C AR E
4 HAAC 3R D
Options :

227427927009. 1
22742792710. 2
22742792711. 3

22742792712. 4

Question Number : 104 Question Id : 22742723796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the following facts related to photography.

A Nada (Felix Toumken) opened Portrait Studio’ in Paris in the year book 1853

B. In 1868, Ducas de Horrian's book highlighting various measures of color photography was published
C. Luminaire brothers produced the first commercial colour film in France in 1905.

D. Invention of first multilayer film Kodakrom in 1936.

E. In 1996, Kodak launched photo CD in the market.

Choose the correct answer from the options given below:

1.A Band C Only
2.B,Cand D Only
3. A Cand D Only
4.B,Dand E Only

Options :

227427927131
22742792714. 2
22742792715.3
22742792716. 4

Question Number : 104 Question Id : 22742723796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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o

B 1968 ¥ Sg@M 3 R 7 ¥ Wi & it T o] W Y6 S1a- drd T5d T @il

C 1905 T W14 H THAATER HISa1 §RT WYH daiiis Wi e i @1 12|

D 1936 ¥ fafirs Wwal arel vy er dledd @ ATHR|
E 1996 ¥ ®lo® - Wil gl & a9k H 3anT|
I U fadmed # § el S & 997 Difau:

1 $adA B, D
2 $adB C D
3 $adA C D
4 $aaB D E

Options :

227427927131
22742792714. 2
22742792715.3
22742792716. 4

Question Number : 105 Question Id : 22742723797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentity which of the following was published by Raja Ram Mohan Roy?
A. Brahmanical Magazine

B. Bombay Samachar

C. Calcutta Chronicle

D. Mirat-ul-Akhbar

E. Young India

Choose the correct answer from the options given below:

1. A, B and E Only
2.C,Dand E Only
3. Aand D Only

4 D, Eand B Only

Options :

22742792717. 1
22742792718. 2
22742792719. 3

22742792720. 4

Question Number : 105 Question Id : 22742723797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. PAdA ARE

2. HAAC, DARE
3. BATA IR D

4 HAAD, E 3R B
Options :
22742792717. 1
227427927182
22742792719. 3

22742792720. 4

Question Number : 106 Question Id : 22742723798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Films directed by Dada Saheb Phalke?
A_Vishwa Mohini

B. Veer Abhimanyu

C. Mohini Bhasmasur

D. Lanka Dahan

E. Savitri Satyavan

Choose the most appropriate answer from the options given below:

1. C, Dand A Only
2. C,BandAOnly
3. C, Dand E Only
4 E, DandAOnly

Options :

22742792721. 1
22742792722.2
22742792723.3
22742792724. 4

Question Number : 106 Question Id : 22742723798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $daC. D 3ATA
2 HadC B 3ARA
3. ®maadC DIARE
4 HAAE. D 3R A
Options :
22742792721. 1
22742792722. 2
22742792723. 3

22742792724. 4

Question Number : 107 Question Id : 22742723799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the external communication medium?

A_ Direct Mail

B. Notices

C. Video

D. E-Mail

E. Letters

Choose the most appropriate answer from the option given below:

1. A, Band C Only
2. B, Dand E Only
3. A CandE Only
4 B, Cand D Only

Options :

22742792725. 1
22742792726. 2
22742792727.3
22742792728. 4

Question Number : 107 Question Id : 22742723799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 HadB D3IRE
3. Had A C3iRE
4 HAdB. C3ARD
Options :
22742792725. 1
22742792726. 2
22742792727.3

22742792728. 4

Question Number : 108 Question Id : 22742723800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The publications of Express Newspapers Ltd. are

A Satya yug

B. Lok Satta

C. Andhra Prabha

D. Navjeevan

E. Dinmani

Choose the most appropriate answer from the option given below:

1. B, Cand E Only
2.B,Dand E Only
3. A BandE Only
4. C, DandE Only

Options :

22742792729. 1
22742792730. 2
22742792731.3
22742792732. 4

Question Number : 108 Question Id : 22742723800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $9dB. C 3RE
2 HadB D3IRE
3. ®ad A B 3R C
4 HAAC DARE
Options :
22742792729. 1
22742792730. 2
22742792731. 3

22742792732. 4

Question Number : 109 Question Id : 22742723801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Mahatma Gandhi was associated with

A Bengal Gazette

B. Harijan

C. Sambad Kaumudi

D. Young India

E. Indian opinion

Choose the most appropriate answer from the option given below:

1. A, Band C Only
2.B,Dand E Only
3. B, Cand D Only
4. D and E Only

Options :

22742792733. 1
22742792734. 2
22742792735. 3

22742792736. 4

Question Number : 109 Question Id : 22742723801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B C
2 ®adB. D E
3. ®adB. C D
4 HadAD. E
Options :
22742792733. 1
22742792734, 2
22742792735. 3

22742792736. 4

Question Number : 110 Question Id : 22742723802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are normative theories?

A Social Responsibility Theory

B. Authoritarian Theory

C. Libertarian Theory

D. Multi-media communication Theory

E. Critical Theory

Choose the most appropriate answer from the option given below:

1. B, Cand D Only
2. A BandC Only
3. C, Dand E Only
4 A BandD Only

Options :

22742792737. 1
22742792738. 2
22742792739. 3
22742792740. 4

Question Number : 110 Question Id : 22742723802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $9dB C. D

2 HadA B. C

3. ®adC D E

4 HAdA B. D

Options :

22742792737. 1
22742792738. 2
22742792739. 3

22742792740. 4

Question Number : 111 Question Id : 22742723803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the major elements of Radio Production?

A_Sound effect

B. Script

C. Voice

D. Voice Mixer

E. Announcer

Choose the most appropriate answer from the option given below:

1. A, Band C Only
2. A CandE Only
3.B,Eand D Only
4 E,BandC Only

Options :

22742792741. 1
22742792742. 2
22742792743.3
22742792744. 4

Question Number : 111 Question Id : 22742723803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B C
2 HadA C E
3 $add B, E, D
4 HAAE. B. C
Options :

22742792741. 1
22742792742. 2
22742792743. 3

22742792744. 4

Question Number : 112 Question Id : 22742723804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which books are written by Thomas L. Friedman.

A Understanding Media : The extension of Man.

B. The Lexus and the olive tree : Understanding globalization

C. Hot, flat and crowded - why we need green revolution

D. The Gutenberg Galaxy

E. The World is Flat

Choose the most appropriate answer from the option given below:

1. B, Cand E Only
2. A BandC Only
3. C, Dand E Only
4 A CandE Only

Options :

22742792745. 1
22742792746. 2
22742792747.3
22742792748. 4

Question Number : 112 Question Id : 22742723804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®49dB, C E
2. HAAA B, C
3. ®AAC. D, E
4 HIAA C E

Options :

22742792745. 1
22742792746. 2
22742792747.3

22742792748. 4

Question Number : 113 Question Id : 22742723805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TV Programme Production Stages are

A._ Electronic New Gathering (ENG)

B. Pre-Production

C. Electronic Field Production (EFP)

D. Production

E. Post Production

Choose the most appropriate answer from the option given below:

1. A, Cand D Only
2.B,Dand E Only
3. C, Dand E Only
4 B, CandE Only

Options :

22742792749. 1
22742792750. 2
22742792751.3
22742792752. 4

Question Number : 113 Question Id : 22742723805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®adA C,D
2 ®ddB, D E
3. ®ddC, D, E
4 ®dAB,C E

Options :

22742792749. 1
22742792750. 2
22742792751.3
22742792752. 4

Question Number : 114 Question Id : 22742723806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of these films directed by Shekhar Kapoor?

A Kalyug

B. Mr. India

C. Junoon

D. Bandit Queen

E. Bhumika

Choose the most appropriate answer from the option given below:

1. A, Band C Only
2.B, Cand D Only
3. Cand D Only
4. B and D Only

Options :

22742792753. 1
22742792754. 2
22742792755. 3
22742792756. 4

Question Number : 114 Question Id : 22742723806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. Had C 3R D

4 HadB AR D
Options :
22742792753. 1
22742792754, 2
22742792755. 3

22742792756. 4

Question Number : 115 Question Id : 22742723807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What can be the indicators to measure economic development in a country?
A_ Gross National Production

B. Women Empowerment

C. Gross Enroliment in Education

D. Per capita income

E. Economic Well being

Choose the most appropriate answer from the option given below:

1. B, D and E Only
2.C, Dand E Only
3. A DandE Only
4 C,BandAOnly

Options :

22742792757. 1
22742792758. 2
22742792759. 3
22742792760. 4

Question Number : 115 Question Id : 22742723807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fodl 32§ gu onfife oo f A1 & Y& ol 9@d o?

AFEHT TP IATGH

B Higal Oaidul

C Toren & 9wd delia
D ufa =afdg g
E 31 degm

i feu U fAwedl © T T 3Ugad SR @1 94 DI
1. ®ddB, D3RE
2. HAAC, DARE
3. BAAA D 3R E
4 HAAC, B AR A

Options :

22742792757. 1
22742792758. 2
22742792759. 3
22742792760. 4

Question Number : 116 Question Id : 22742723808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List—1 List—1I
Books Author
A_ India : A Nation I. Margarita Bems

B. The Need in nationalism and other Essays|ll. C.F. Andrews

C. India today and Tomorrow Ill. Annie Besant
D. North India I'V. Arvind Gosh
Chose the correct answer from the options given below:

1A-ll,B-NV,C-1,D-1
2 A-llLB-1,C-ND-Il
3A-IVB-Il,C-I,D-1I
4 A-IVB-IIlL,C—-1 D=1l
Options :

22742792761. 1
22742792762. 2
22742792763. 3

22742792764. 4

Question Number : 116 Question Id : 22742723808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. Al fgam Iv. 3Rfdg gy

4 feu U fawcdl § © U981 IR &l 99 HIfIu:

1. Al B-IV, C-1, D-lI
2. Al B-l, C-IV, DAl
3. A-IV, B-Il, C-I, D-IlI
4 A-lV, B-Ill, C-1, DAl



Options :

22742792761. 1
22742792762. 2
22742792763. 3
22742792764. 4

Question Number : 117 Question Id : 22742723809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List—1 List— 1l
Foreign Newspaper Foundation year
A Daily telegraph . 1877
B. The Guardian II. 1855

C. The Wall Street Journal|lll. 1321

D. The Washington Post |I\V. 1889

Chose the correct answer from the options given below:

1LA-I,B-IIl,C-IV,D-
2 A-llLB-IV.C-Ill,D-
3A-ILB-IV,C-I,D-I
4 A-llLB-1,C-IV.D-1l
Options:

22742792765. 1
22742792766. 2
22742792767.3

22742792768. 4

Question Number : 117 Question Id : 22742723809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. § aIRiTed 9ie |IV. 1889
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1. All, B-lIl, C-1V, D-|
2. Al B-IV, C-lII, DA
3. Al B-IV, C-I, D-II
4 Al B+, C-IV, D-lI

Options :

22742792765. 1
22742792766. 2
22742792767. 3
22742792768. 4

Question Number : 118 Question Id : 22742723810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List -1 List— 1l

Organizations |Public Service Announcement (PSA)
A. HDFC |. Lets catch up with life

B. SBI II. Hum Haar Nahi Maanenge

C. Google India|lll. Thank you doctors, nurses and all healthcare workers
D. Parle IV, Ghar Mein Khushiyan
Chose the correct answer from the options given below:

1LA-1L,B-IlLC-Il,D-IV
2A-1,B-ll,C-IV,D-II
JA-ILB-IV.C-Ill,D-I
4 A-IlLB-1IlLC-IV,D-1l



Options :

22742792769. 1
22742792770. 2
22742792771. 3

22742792772. 4

Question Number : 118 Question Id : 22742723810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. R v, =R H Rt

A TG U f[d@edl § © gl 3R &1 904 DI

1. A, B-ll, C-ll, D-IV
2. A-l, B-lll, C-IV, D-lI
3. AL, B-IV, C-ll, D
4 Al B-lll, C-IV, D-I
Options:
22742792769. 1
22742792770. 2
22742792771.3

22742792772. 4

Question Number : 119 Question Id : 22742723811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List—1 List -1l
Advertisement agency Headquarter

A. Mudra Communication Ltd.|l. Chennai

B. R K. Swami/B.BDO Il. Anmedabad
C. Ed India Advertising lll. New Delhi
D. Meckan Erickson India Ltd_|IV. Kochi
Choose the correct answer from the options given below:

1LA-IILB-IIlLC-IV,D-I
2 A-ll.B-1,C-Il,D-IV
3A-II,B-1C=IV.D-lI
4 A-llLB-IV,C-1l,D-]
Options :

22742792773. 1
22742792774. 2
22742792775. 3

22742792776. 4

Question Number : 119 Question Id : 22742723811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Al B-lIl, C-1V, D-I
2. Al B-l, C-Il, D-IV
3. Al B-l, G-IV, D-IlI
4 Al B-IV, C-ll, D-l



Options :

22742792773.1
22742792774. 2
22742792775. 3

22742792776. 4

Question Number : 120 Question Id : 22742723812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List—1 List—1I

Mass Communication Theory|Theorist

A_Agenda — Setting | Elisabelt Noelle — Neumann
B. Spiral of Silence Il. George Gerbner

C. Cultivation Theary . Vvalter Lippman

D. Public Opinion V. McComb and shaw

Chose the correct answer from the options given below:

1LA-IVB-ILC-1l,D-1I
2 A-IVB-1,C-IllIl,D-1
3A-1L,B-IV,C-II,D-1I
4 A-1,B-1Il,C-IlIlLD-1IV
Options:

22742792777. 1
22742792778. 2
22742792779. 3

22742792780. 4

Question Number : 120 Question Id : 22742723812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gt | ' 9y TGl 1| &1 e S

Ll Gicill]
e — -
A TorST I . BferaTey 5w gA
B. TETT HIF IEad |1 T TR
C. FatF foaid (FaciaeE @Rl aieet s
D. o9 Ad (Ufe® Sifua)  |Iv AesiE S

=< U 7T fodeal | © 9ol ST &1 99 PIug:

1. AV, B-l, C-ll, D-1ll
2. AV, B-l, C-Iil, D-lI
3. Al B-IV, C-II, DI
4 Al B-ll, CIl, DIV
Options :
22742792777. 1
22742792778. 2
22742792779. 3

22742792780. 4

Question Number : 121 Question Id : 22742723813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List -1 List—1I
MNewspaper Tag ling
A. Dainik Bhaskar |. Journalism of courage
B. The Hindu . Jid karo Duniya Badlo

C. The Indian Express|lll. Indian Mational Newspaper since 1875
D. Prabhat Khabar  |IV. Akhbar Nahi Andolan
Chose the correct answer from the options given below:

1.A-ILB-IIlLC-I|,D-IV
2A-NB-1,C-Il,D-1I
JA-ILB-IILC-1,D-IV
4 A-1,B-IV,C-Ill,D-1l



Options :

22742792781. 1
22742792782. 2
22742792783. 3
22742792784. 4

Question Number : 121 Question Id : 22742723813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Il | D Y Tl 11 BT T DI

Ll il

A SfHE v | FHTeed HE Bl (HTGd CA R ECAI RG]

B gfeg 1. forg &1 g saen

C. g $f&am waasa|il. $fEas Feme = 99 1878 (1878 § YR UPY 9HER UF)
D. WHId FaY IV, @SN Tl e

I few 7o fomenf & © 98 IR &1 99 i

1. AL, B-lll, C-I, DIV
2. A-lV, B-l, C-II, D-llI
3. Al B-Il, C-l, DIV
4. A-l, B-IV, C-lll, D-lI
Options:
22742792781. 1
22742792782. 2
22742792783.3

22742792784. 4

Question Number : 122 Question Id : 22742723814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List—1 List =11

Radio Milestone Date

A. Vividh Bharti Service started | 237927
B. All India Radio Comes Under | & B Ministry|ll. 3/10/1957
C. FM Radio Started in India 1. 24/10/1941
D. Radio Started in India V. 237977

Chose the correct answer from the options given below:

1A-ILB-I,C-IV.D-1ll
2 A-l.B-1,C-IlLD-IV
3JA-IVB-IIlLC-1l,D-I
4 A-IlLB-IlLC-IV,D-|
Options :

22742792785. 1
22742792786. 2
22742792787. 3

22742792788. 4

Question Number : 122 Question Id : 22742723814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | ' Y Tl 1| BT e S

I | il

A fafay Hre 9a1 &1 oMy . 23/711927
B. e 3iEa Ieal &1 Y31 9 TR §ae" & 394 Sl 3101957
C. HRd H UF UH ST &1 3RH 1. 24/10/1941
D. HRd H I&a1 &1 HH IV. 23711977
I feu U fadedl § U T8t 3R &1 98- Difoid:

1. A, B-ll, C-IV, D-llI
2. Al B-l, C-Il, D-IV
3. A-IV, B-Ill, C-lI, D-|
4 A-ll, B-lll, C-IV, D-l



Options :

22742792785. 1
22742792786. 2
22742792787. 3

22742792788. 4

Question Number : 123 Question Id : 22742723815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List -1 List -1l
Books Writer
A. Empire and Communication . Neil Postman

B. Amusing ourselves to death Public discourse in the age of show business_|Il. Nalin Mehta

C. Understanding Media : The Extension of Man 1. Marshall Mcluhan

O. India on Television V. Harold Innis

Chose the correct answer from the options given below:

1LA-IVB-1,C-IlIl,D-l
2A-IVB-1,C-I1I,D-1I
JA-L,B-IV,C-I1I,D-1I
4 A-1,B-IV,C-1ll,D-1
Options:
22742792789. 1
22742792790. 2
22742792791.3

22742792792. 4

Question Number : 123 Question Id : 22742723815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gt | ' 9y TGl 1| &1 e S

Ll il

EERE EECT

A. THRR U8 SRIFSEH I e treET
B. TR Sfavdcay ¢ oY Ufss S5h e 57 & U off® <ol faorg |l e e

C. iSRS HIfSTT: § UaRe T 31 39 111, ATRiE HegEH
D. 3f&a1 37 Teilide IV, BYeS 59
=< U 7T fodedl | © 9ol ST &1 99 PIeg:

1. AV, B-l, C-lII, D-lI
2. AV, B-l, C-II, DI
3. Al B-IV, C-II, DI
4 Al B-IV, C-lll, D-lI
Options :
22742792789. 1
22742792790. 2
22742792791. 3

22742792792. 4

Question Number : 124 Question Id : 22742723816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List—1 List —1I

Editor New Paper

A. Bal Gangadhar Tilak |I. Mirat-ul-Akhbar
B. Raja Ram Mohan Roy|ll. Indian Opinion
C. Dr. B.R. Ambedkar  [lIl. Mooknayak
D. Mahatma Gandhi Y. Maratha
Chose the correct answer from the options given below:

1.A-IVB-ILC-Il,D-1I
2A-1,B-IV,C-1ll,D-1I
JA-ILB-IlLC-II,D-IV
4 A-IV,B-1,C-1ll, D1l



Options :

22742792793. 1
22742792794, 2
22742792795. 3
22742792796. 4

Question Number : 124 Question Id : 22742723816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e | & 91y g 1| 1 e S

Ssil Sl
S FIGGE TJOER 93

B. I TH AGA T |11 55T siifafaa
C. SI. §l. 3R, 3issaH|lll. 7P S

D. e el V. AT
Al TG U f[d@edl § © el 3R &1 904 DI

1. AV, B-l, C-lI, D-Ill
2. A, B-IV, C-ll, D-lI
3. A, B-ll, C-lIl, DIV
4 A-IV, B-l, C-IIl, D-lI
Options:
22742792793. 1
22742792794. 2
22742792795. 3

22742792796. 4

Question Number : 125 Question Id : 22742723817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List—1 List—1I

Theme of World Press Freedom day Year

A. Joumnalism Under Digital Siege | 2020

B. Information as a public Good 1. 2023
C. Journalism without fear or Favour 1. 2022
D. Shaping a future of Right : Freedom of expression as a driver for all other human rights_|IV. 2021

Chose the correct answer from the options given below:

1A=l B=-llLC-1,D-IV
2A-IV.B-Il,C-I,D-1
JA-ILB-1,C-IV.D-I
4 A-IllLB-V,C-1.D-1l
Options :

22742792797. 1
22742792798. 2
22742792799. 3

22742792800. 4

Question Number : 125 Question Id : 22742723817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i | ' 1Y Gl |1 BT e St

Gl Gl
Ty o aciaan fgag @1 fawg ad

A fefordia wEdl & ol i I. 2020
B. W 3G & E9 H g1 Il. 2023
C. Ha 31y v&Tra fed THesa lll. 2022
D. HUER| & 4™ &1 HER ¢S 4 T4 FHaIER] & 90 & &9 | Hfiegied S Taaalv. 2021
A fau U fadedl ® T W81 I &1 957 DIT:

1. A-ll, B-lll, C-I, D-IV

2. A-IV Bl C-1, D-lI

3. AL B-1, C-IV, DA

4 Al B-IV, C-l, D-ll



Options :

22742792797. 1
22742792798. 2
22742792799. 3
22742792800. 4

Question Number : 126 Question Id : 22742723818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

|dentify the following in ascending order:

A_ Official Secrets act

B. Press and Books Registration Act

C. Press Council Act

D. Copy Right Act

E. Patent Act

Chose the correct answer from the options given below:
1.D,E A BC

2B,DAEC
3. B

D,C EA
A,B,E C,D

o

Options :

22742792801. 1
22742792802. 2
22742792803. 3
22742792804. 4

Question Number : 126 Question Id : 22742723818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

ggd gU 3pH H UgdIHT:

A Brafedt o=t

B U d G&I® Uil SAfaf-ad
D ®IUl Tge MufaH

E U<e sfafagn

oL

-t feu e fadedl O T Tg1 IR &1 944 DI

1D, E AB3RC
2 B,D A E3RC
3.B,D, C E3RA
4 A B E C3RD

Options :

22742792801. 1
22742792802. 2
22742792803. 3

22742792804. 4

Question Number : 127 Question Id : 22742723819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify the correct descending chronological order of the following acts.
A_Trade Union Act

B. Industrial Dispute Act

C. Employees Insurance Act

D. Working Journalists Act

E. Payment of Wages Act

Choose the correct answer from the options given below:

1.A,B,C,DE
2B,CDEA
3.D,C, B EA
4 C,D,ABE

Options :

22742792805. 1
22742792806. 2
22742792807. 3
22742792808. 4

Question Number : 127 Question Id : 22742723819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S e e

FEfoRad ST @I DIeshH H ®Yd §UHH H JgdH-—-

ATS gHTA T

B e faare sfafms

C SHSY 3RARY Tae

D qidh7 SHieRed Ude

E Ode 31 duil Uae

Hid feu e fowed & ¥ 981 STk &1 99 Difot:

1.A,B,C,DE
2B,CDEA
3.D,C, B EA
4 C,D,ABE

Options :

22742792805. 1
22742792806. 2
22742792807. 3
22742792808. 4

Question Number : 128 Question Id : 22742723820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following newspaper according to the ascending chronological order of their year of publication :
A Times of India

B. Malayalam Manorama

C. Eenadu

D. Mumbai Samachar

E. Anand Bazar Patrika

Choose the correct answer from the options given below:

1.ABCDE
2BDCAE
3 ED,BAC
4 B,D,AEC

Options :

22742792809. 1
22742792810. 2
22742792811. 3

22742792812. 4

Question Number : 128 Question Id : 22742723820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



THER T B UHRH 94 & dod §U Dlahd & AR Haiyd Hifo |

AT 3 e

B HeGIaH HARHT

C3Tg

D H&3 THER

E MG 99 Ui®

Hid feu e fowed & ¥ 981 STk &1 99 Difot:

1.A,B,C,DE
2B,D,CAE
3.E,D,B,AC
4 B,D,AEC

Options :

22742792809. 1
22742792810. 2
22742792811. 3
22742792812. 4

Question Number : 129 Question Id : 22742723821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentity the correct chronological order of the following communication Models
A. Osgood Model

B. Claude Shannon and Weaver model

C. Lasswell's Model

D. Westly and Maclean Model

E. New Comb’'s Model

Choose the correct answer from the options given below:

1.C,D,B,E A
2B,CEAD
3.B,D,E,C A
4 C,B,EAD

Options :

22742792813. 1
22742792814. 2
22742792815. 3

22742792816. 4

Question Number : 129 Question Id : 22742723821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g U0 HiSl & TEl BIcshH B UgdH SIfo

A \HUH:I\;\: J:'-\Z—.x:vﬁ

B FTS 999 d diaR Aled

D 9% d Agd i Hlsd
E < ®ite Alsd

= fGT 7T fadedl & 9§ I8! SR &1 999 DI

1.C,D,B,E A
2B,CEAD
3.B,D,E,C A
4 C,B,EAD

Options :

22742792813. 1
22742792814. 2
22742792815. 3

22742792816. 4

Question Number : 130 Question Id : 22742723822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The correct chronological order of tenure of Minister of Information and Broad Casting of Government of India
A Venkaiah Naidu

B. Ravi Shankar Prasad

C. Smirti Zubin Irani

D. Prakash Javadekar

E. Arun Jaitley

Choose the correct answer from the options given below:

1.B,E DAC
2BDEAC
3.E,B,C, DA
4 E D B,CA

Options :

22742792817. 1
22742792818. 2
22742792819. 3

22742792820. 4

Question Number : 130 Question Id : 22742723822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HRA WHR & 5 -1 9 TR HE8] & SHdIe B BIasHTaR Jel AIHH o
ATHaTTEg

B d TiH UgIg

¢ fa Sffeq Se

D U Fded

E &0 e

Hid feu e fowed & ¥ 981 STk &1 99 Difot:

1.B,E DA C
2B,D EAC
3. E,B,C,DA
4 E,D,B,C A

Options :

22742792817. 1
22742792818. 2
22742792819. 3
22742792820. 4

Question Number : 131 Question Id : 22742723823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the chronological ascending order of the following magazines in accordance with their year of publication
A Sudhakar

B. Buddhiprakash

C. Banaras Akhbar

D. Kavivachan Sudha

E. Harishchandra Magazine

Choose the correct answer from the options given below:

1.AB,CDE
2CABDE
3.D,B,ACE
4ECDAB

Options :

22742792821. 1
22742792822. 2
22742792823. 3
22742792824. 4

Question Number : 131 Question Id : 22742723823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frafatad vz uBered &l UHRH 96 & JUR d6d 9 ¥ UgaiFt:-
A GHUTER

B §i< TR

C d-RY -4
D &fd d= gl
E _ﬁ'—a{dﬁ =R

= fGT 7T fadedl & 9§ I8! SR &1 999 DI

1.A,B,C,DE
26 A8 D E
3.0, B.A C.E
4 ECDAB

Options :

22742792821. 1
22742792822. 2
22742792823. 3

22742792824. 4

Question Number : 132 Question Id : 22742723824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following feature in Pinterest in chronologically ascending order
A. Beginning of Visual Search’ function

B. Beginning of advertisement in the form of ‘Pracharit Pin’

C. Beginning of ‘Idea Pins’ feature

D. Permission for search with images in place of words

E. Beginning of "Today’ Tab on Home feed.

Choose the correct answer from the options given below:

1.BADC.E
2B,DAEC
J3.A, B, CDE
4 A/CDBE

Options :

22742792825. 1
22742792826. 2
22742792827. 3

22742792828. 4

Question Number : 132 Question Id : 22742723824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



™ i_‘\i_

e ¥ 3H are Bigd o S HHHER 96d U HH 1 [

A Ta[31el el BagH B 3T

B WaIid fU & ¥u ¥ faqiu= of JEed

C efear i B Uiy

D TMeal & S9Ig 194! & 91Y @ielH ST A1

E 81 Bl W Te ¢d URY

Hid feu e fowed & ¥ 981 STk &1 99 Difot:

1.BADC.E
2B,DAEC
J3.A, B, CDE
4 A/CDBE

Options :

22742792825. 1
22742792826. 2
22742792827. 3

22742792828. 4

Question Number : 133 Question Id : 22742723825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify the correct order of research stage:

A_ collection of data

B. Fixation of research problem

C. Hypothesis formation

D. Review of literature

E. Analysis and Report writing

Choose the correct answer from the options given below:

1.B,C,D,A E
2B,D,CAE
3.A,B,DCE
4 ELA B, D, C

Options :

22742792829. 1
22742792830. 2
22742792831. 3

22742792832. 4

Question Number : 133 Question Id : 22742723825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-

HTUM & TRUN BT Tgl HH Diford|

A THET BT THATHI

B MY 9Hr @1 HuRm

C U@ iR

D Hifed &1 RIgdld
E fa=cmo vd g oA

Hid feu e fowed & ¥ 981 STk &1 99 Difot:

1.B,C,D,A E
2B,D,CAE
3.A,B,DCE
4 ELA B, D, C

Options :

22742792829. 1
22742792830. 2
22742792831. 3

22742792832. 4

Question Number : 134 Question Id : 22742723826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify the following as per the increasing order of their respective publication year:
A. Samachar Darpan

B. Somaprakash

C. The Hindu

D. Gadar

E. Zar-e-Jahanuma

Choose the correct answer from the options given below:

1.B,C,ADE
2. E,ABCD
3. C, 0B AE
4 AE. B, CD

Options :

22742792833. 1
22742792834. 2
22742792835. 3
22742792836. 4

Question Number : 134 Question Id : 22742723826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FHifhd @1 HHT<H 94 & F6d gU oH H Ugal-u-
A THMER g4

B G UBI

cgfewg

D &R

E WIR T SRIgHT

=, =

= fGT 7T fadedl & 9§ I8! SR &1 999 DI

1.B,C,A D E
2 EABCD
3.6, 0 B AE
4 AAEBCD

Options :

22742792833. 1
22742792834. 2
22742792835. 3

22742792836. 4

Question Number : 135 Question Id : 22742723827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the chronological sequence of following periods of advertising history.
A pre-print and initial printing period

B. Expansion period of advertising

C. Scientific development of advertising

D. Modern period of advertising

E. Fully commercial and Ultra Modern Period of advertising

Choose the correct answer from the options given below:

1.A,D,C,B E
2D B CAE
3 BADCE
4 AB CDE

Options :

22742792837. 1
22742792838. 2
22742792839. 3

22742792840. 4

Question Number : 135 Question Id : 22742723827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



faTuA & Sfde™ & ®d [qUIeH & HH® 4 § Ugdl-u:-
AT & od T RS e

B fa319= &1 fasR &1d

¢ oo @1 991 faery &id

D TaRmu= &1 3y Pra

E 9319 &1 QUic: A1ad1idd Ud SAe-d Sia|
d feu e fadedl § ¥ T8l IR &1 997 DI

1.A,D,C,B E
2D B CAE
3 BADCE
4 AB CDE

Options :

22742792837. 1
22742792838. 2
22742792839. 3
22742792840. 4

Question Number : 136 Question Id : 22742723828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A - Digital Media technologies can be seen as being socially shaped prior to use

Reason R : The popularization of a technology in commercial societies implies design motivated by profit
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are correct and R is the correct explanation A.

2. Both A and R are correct and R is NOT the correct explanation A
3. Ais correct but R is not correct.

4. Ais not correct but R is correct.

Options:



22742792841.1
22742792842. 2
22742792843. 3

22742792844. 4

Question Number : 136 Question Id : 22742723828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

il & D U U 8: U @ (Assertion A ) @ €U forgd 5 dl GO 34d SR (Reason R) & €Y H;
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Options :

22742792841, 1

22742792842. 2

22742792843, 3

22742792844. 4

Question Number : 137 Question Id : 22742723829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A TV has become an powerful instrument of social change in India.

Reason R : TV has been approachable medium to mass public

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are correct and R is the correct explanation A.

2. Both A and R are correct and R is NOT the correct explanation A
3. Alis correct but R is not correct.

4. Alis not correct but R is correct.

Options :

22742792845, 1
22742792846. 2
22742792847.3
22742792848. 4

Question Number : 137 Question Id : 22742723829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
i & B U T : U A (Assertion A) & €U H foRgd & dl GO 3% SR (Reason R) & €Y H:
YU A: WA H S I TR0 &I e JUS0 & T 3 |

PRI R: YduH gq ceilider U T 71 8

TR B & 3f1ciiep H, Tl 3T 70 faepedl ¥ 9a¥ I0gad IR &1 907 DIl
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4 AT TR BT R TEI ©

Options:
22742792845. 1
22742792846. 2

22742792847. 3



22742792848. 4

Question Number : 138 Question Id : 22742723830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:
Statements | Avariable which cannot take up exact values is called a desecrate’ variable

Statements Il  Avariable which cannot take up any numerical value (integral/fractional) within a certain range in called a
continuous variable

In the light of above statements, choose the correct answer from the options given below

1. Both Statement | and Statement [| are true
2. Both Statement | and Statement | are false
3. Statement | is true but Statement [l is false
4 Statement | is false but Statement If Is true

Options :

22742792849. 1
22742792850. 2
22742792851. 3
22742792852. 4

Question Number : 138 Question Id : 22742723830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792849. 1
22742792850. 2
22742792851. 3
22742792852. 4

Question Number : 139 Question Id : 22742723831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statements |- Internet in India today is the most converging medium in the world

Statements |l - Digital inclusion is not completely related to issues pertaining to ease of technology
In the light of above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement [l are true
2. Both Statement | and Statement || are false
3. Statement [ s true but Statement Il is false
4 Statement | is false but Statement Il Is true

Options:
22742792853. 1
22742792854, 2

22742792855. 3



22742792856. 4

Question Number : 139 Question Id : 22742723831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792853. 1

22742792854, 2

22742792855. 3

22742792856. 4

Question Number : 140 Question Id : 22742723832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The information Society describe the push towards computerized automation

Reason R : The network society not grapples with its consequences

In the light of the above statements, choose the correct answer from the options given below:

1. Both Aand R are correct and R is the correct explanation A.

2. Both Aand R are correct and R is NOT the correct explanation A
3. Alis correct but R is not correct.

4. Ais not correct but R is correct.

Options :

22742792857. 1
22742792858. 2
22742792859. 3
22742792860. 4

Question Number : 140 Question Id : 22742723832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i & B U T : U A (Assertion A) & €U H foRgd & dl GO 3% SR (Reason R) & €Y H:
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Options:

22742792857. 1

22742792858. 2

22742792859. 3



22742792860. 4

Sub-Section Number : 2
Sub-Section Id : 227427932
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742723833 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following Passage and answer the questions

Communication activities can help people, even those from different social groups within a community, to share information and
exchange ideas in a positive and productive fashion. This dialogue can be enriched by understanding how development issues
affect them, discovering what others think in other communities, and seeing what other communities have achieved. Thase are
effective methods to help people to reach a consensus and find common grounds for action, based on their own needs and
capabilities. Dialogue can be initiated and quided by field staff who have good interpersonal communication skills.

Discussion tools such as flipchart, audio-cassettes, slide and even video, can be used to help people visualize and reflect upon
their own reality. Rural radio too can be a popular forum where local people do most of the talking about technical and cultural
fopics. These activities can lead fo a serious diagnosis of problems and a search for solutions. Gaining people’s participation
always requires much face-fo-face work within the community in order to make a bridge of understanding. Communication skill
and media help people to visualize and cross that bridge more swittly

Sub questions

Question Number : 141 Question Id : 22742723834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For the people’s participation which thing is required

1. Daily discussions
2. Face to face work
3. Mobile networks
4. Media help
Options :
22742792861. 1
22742792862. 2
22742792863. 3

22742792864. 4

Question Number : 142 Question Id : 22742723835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Communication activities help people for

1. To enjoyment and trueness

2. To entertainment and meetings

3. To share information and exchange of ideas
4. To share thoughts and videos

Options :

22742792865. 1
22742792866. 2
22742792867. 3
22742792868. 4

Question Number : 143 Question Id : 22742723836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Communication activities help people for

1. Reflect own reality

2. Reflect group reality

3. Reflect community reality

4. Reflect communication skills
Options :

22742792869. 1
22742792870. 2
22742792871. 3

22742792872. 4

Question Number : 144 Question Id : 22742723837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For the fair and effective communication is required easy for active goal

1. Communication skills

2. Interpersonal communication skills
3. Group communication skills

4. Community communication skills

Options :

22742792873. 1
22742792874. 2
22742792875. 3
22742792876. 4

Question Number : 145 Question Id : 22742723838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Discussion tools are

1. Flipchart, Facebook, Newspaper, video

2. Newspaper, News Channels, Audio cassettes
3. Flipchart, Audio-cassettes, slides

4 Video, audio-cassettes, slides and Flipcharts

Options :

22742792877. 1
22742792878. 2
22742792879. 3
22742792880. 4

Question Id : 22742723833 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742723834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
TN &1 GEHIAI B 1 HaUTD 62

2 A & B
3. HiEEd Jeaia]

Options :

22742792861. 1
22742792862. 2
22742792863. 3

22742792864. 4

Question Number : 142 Question Id : 22742723835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792865. 1
22742792866. 2
22742792867. 3

22742792868. 4

Question Number : 143 Question Id : 22742723836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4. YUY DI B! Udd B |

Options :

22742792869. 1
22742792870. 2
22742792871.3

22742792872. 4

Question Number : 144 Question Id : 22742723837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792873. 1
22742792874. 2
22742792875. 3
22742792876. 4

Question Number : 145 Question Id : 22742723838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742792877. 1
22742792878. 2
22742792879. 3

22742792880. 4

Sub-Section Number : 3
Sub-Section Id : 227427933
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742723839 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following Passage and answer the questions

Many academic researchers of the 19605 became interested in & type of research that came to be known as cultural studies.
Cultural studies did not depend on controlled experiments or statistical proof, but rather on careful observations of and thinking
about, both media and society. One of the best-know researchers (although by no means the first) in the cultural tradition was
Marshall McLuhan. A Canadian Professor of English literature, McLuhan wrote that it was the nature of the communication
technology itself, rather than the content that was carried on it, that changed society in radical ways. The characteristics of a
medium such as television, much more than its content, he said, determine what a viewer will experience or as he famously put
it. The medium is the message.” For McLuhan, the idea that television could be either good or bad, depending on how it was
used, was the stance of a technological idiot. Regardless of its content, a medium like television tended fo deaden the critical
faculties of individuals. Print at least encouraged logical thought, because it required a step-by-step decoding that was rational in
nature. Television, on the other hand, encouraged irrationality by providing information all at one, without logical order and in an
emotional, visual way rather than a rational, inear way McLuhan was a great believer in technological determinism, the theory
that states that the infroduction of new technology changes society, sometimes in unexpected ways.

Sub questions

Question Number : 146 Question Id : 22742723840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

McLuhan theory states which technology?

1. Television Technology

2. New Technology

3. Contemporary Technology
4 Social Media Technology

Options :

22742792881. 1
22742792882. 2
22742792883. 3

22742792884. 4

Question Number : 147 Question Id : 22742723841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which study did not depend on controlled statistical proof

1. Social Media Studies
2. Cultural Studies

3. New Media Studies
4. Television Media
Options :
22742792885. 1
22742792886. 2
22742792887. 3

22742792888. 4

Question Number : 148 Question Id : 22742723842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who is the Canadian processor?

. otephen Robbins
- MclLuhan

. Baran Davis

lan Hargreaves

L kD =

=

Options :

22742792889. 1
22742792890. 2
22742792891. 3
22742792892. 4

Question Number : 149 Question Id : 22742723843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is technological idiot?

1. New Media Tools
2. Television

3. Internat

4. Cultural use in Technology

Options :

22742792893. 1
22742792894. 2
22742792895. 3

22742792896. 4

Question Number : 150 Question Id : 22742723844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which media encouraged logical thoughts?

_ Television Media
- Traditional Media
. Print Media

. Social Media

[

o

Options :

22742792897. 1
22742792898. 2
22742792899. 3
22742792900. 4

Question Id : 22742723839 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742723840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e & UGid & AR HF-4l UERId! 94 J sead o @l 8?2

1. G2 Uil

2. =7 Ui

3. THSICH Wit

4 GrErd Hifsar it

Options :

22742792881. 1
22742792882. 2
22742792883. 3

22742792884. 4

Question Number : 147 Question Id : 22742723841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

-1 g4 Adfg gifesta g o g1 i 82

1. grerd Hifsar sremmd
2. Hikpidd Hey-

3. 41 difsgr g
4. GG Hifsan

Options :

22742792885. 1
22742792886. 2
22742792887.3

22742792888. 4

Question Number : 148 Question Id : 22742723842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

HATSTE UhER B 872

2. HaieH

Options :

22742792889. 1
22742792890. 2
22742792891. 3

22742792892. 4

Question Number : 149 Question Id : 22742723843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 99 - Hifsar @i
2. GRGRIH
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Options :

22742792893. 1
22742792894. 2
22742792895. 3

22742792896. 4

Question Number : 150 Question Id : 22742723844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
®IF-41 HifST dlfdd [GaRT DI Hidiied &l 82

1. GRGRH Hifsan
2 TR Hifsar
3. fiie Hifsar

4. grgre Hifsar

Options :

22742792897. 1
22742792898. 2
22742792899. 3
22742792900. 4



